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. ¢(OH) =1 x10 7  mol « L' pH=3 HCl
1. ¢(H") =1 x10"" mol * L™ c(OH™) =
1 0.1mol*L"HCI 0.1 mole-L" ¢(H")
CH,COOH ? .
2 pH=11 NaOH pH=3 HCl (1) ( )
? - (2) ( )
. c(HY) ¢(OH")
: . (3) e(HY)
H,0==H" +OH" ¢(OH")
HCI 0.1 mol « L™" HCI o ¢(H) ¢( OH")
o(H") g =0.1 mol = L°" CH, COOH o
0.1 mol + L' CH, COOH ¢c(H") < 2.
0.1 mol * L' c(H") (1) ( ) )
c(H")
¢(H") ya > c(H") gcoon 0.1 mol = L™ o
HCI 0.1 mol * L™' CH,COOH (2) .
. pH =11 NaOH 3 pH 4 FeCl, pH 10 K, CO,
| 2 Ba( OH) ,
11a.9a pH =5 HCl B. 0.1 mol/L
n(H") =1x107° «1la pH=9  NaOH ¢(OH): ¢(H") =1x10"* pH=1 H,SO0,
n(OH™) =1x107° + 9qa n(H") >n(OH")
¢c (H") = C. pH =3 H, SO, pH =11
11><10’5a-9><10*5a=1x10,6 mol/L NH, * H,0
(11 +9)a D. pH=3 0.001 mol/L. NaOH
pH =6 Co
2. A HCl  Ba( OH),
pH=7;B ¢(OH") =
1x10* xe¢(H") =1 %107 mol/L
pH( ) + H,S0,
pH( ) =14 pH <7 pH<7; C pH=11  NH, * H,0
; pH >7 : 1 x 10 mol /L
° pH>7;D pH =3 1 x
4 10~ mol /L NaOH pH <
pH >7 ( ) o 7 C.
A. 0. 1 mol/L HCI pH = 13 ( 12018 -03 -25)
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A o >a, B.a <a,
C. a=a D.
pH=4  FeCl, H*
¢(H") =1 x10"* mol » ™" Fe'"
OH" ; pH =10
K,CO, ¢c(OH") = KW){ =1X1O:jz mol
c(H") 1x10
L' =1x10"mol « L™
c(H") =¢(OH") Fe'*.CO:"
o = ,o
Co
(1)
- (2)
1.
(1) ;
(2)
T = «/KTVXIOO%(KV
' 55.6 ¥
)
2.
3 :
(1)0.001 mol * L™ 1(2)5.0x107* mol * L™
( 2%) -
(1) HCI c(H") =
0.001 mol * L™ c(H") =
¢(OH™) =%=1.0x10*“mol-y‘
_1.0x10 " mol -_IL" X« 100% = (1.8 x
55.6mol ¢ L
107" %

(2) NH, * H,0 OH"
¢(OH) =ca=5.0x10""mol « L~
1.0x10 > mol + L™

"'%2% =

-14
c(H") :%:I.OXIO’QmOI'L’l
.U X
-9 T -l
:1'(;;160 lm(’lL,L x 100% = (1.8 x
.Omol *
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c(HT) c¢(OH") o=
leOO% .
c
¢(OH")
(1) O‘ZC(:I ) x 100% .
1000 ¢ « I.7!
(3) xgi_l
18 g * mol
3.
(1)
H* OH"
(2)
! pH =11 NaCN
( 1 g Cm_3) .
pH=11 ¢(H") =1.0%10 " mol * L.™!
¢(OH™) = Ky _1 x10 *(mol + L") _

¢(H") 1.0x10 "mol + L™

1.0 x10 *mol « L™

~1.0x10 *mol = L™

S5 6ol - L x100% = (1.0
x107) %
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